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General Instructions :
(i) Please read the instructions carefully.

(ii)  This question paper consists of 24 questions in two Sections : Section A
and Section B.

(it)  Section A has Objective type questions whereas Section B contains
Subjective type questions.

(iv)  Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v All questi(;ns of a particular section must be attempted in the correct
order. '

(vi)  Section A : Objective Type Questions (30 marks) :
(a)  This section has 6 questions.
(6)  There is no negative marking.
(¢) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.

(vit) Section B : Subjective Type Questions (30 marks) :
(a) This section has 18 questions.
(6) A candidate has to do 11 questions.
(¢) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question /part.

Section A
(Objective Type Questions) (30 Marks)
1. Answer any 4 out of the given 6 questions on Employability Skills. dx1=4
1) is an element of communication which encodes and

sends messages through a channel.

(i)  To maintain a positive attitude, which one of the following is not a
good practice ?

(A) Feed the mind with positivity
(B) Don’t learn from failures

(C) Move towards your goals and dreams
(D) Start the day with a morning routine

(iii) State True or False : “Personality disorders involve long-term
patterns of thoughts and behaviours that are unhealthy and rigid.”
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EIEE

s :
Gv) i 99edat (Spreadsheet software) H weaa (Vertical)
0% O e (Cells) i T aETR |
) firelt et o gt wet TR @ O, N %S

0 T, T B e ), s 35w & e e ST |
(A)  Tf=aar (Decisiveness)
(B) YR i (Interpersonal skills)
" (C)  Tgal (Perseverance)
(D) 9B T (Taking initiative)

~

(vi) CNGHITI&q T

R e 7 uwet ¥ 9 gt 5 % s | 5x1=5

() DBMSHII&Y gl

Gi) @i Java Statemen‘cs % 9Ty 9Ty g =R |

(iii) T 9T (language) & /@1 T@TT RDBMS H %R & 1Y
T F G & AT fomar SIaT ® | '

(iv) Tomer Aieed (Relational models) & & T e
(Relation) &l STl T

(v) 3 feeret 1 gl % fAT IRCTC STee Tidet 1 0 &7 ¢ ;

(A) International Railway Catering and Tourism Corporation

(B) Indian Railway Controlling and Transport Corporation

(C) Indian Railway Catering and Tourism Corporation

(D) International Railway  Controlling and  Transport

Corporation
vi) Frefafaa § 9 $H-a1 SQL %1 AT (Valid) data type 781 € ?
(A) CHAR(n) (B) VARCHAR(n)
(C) 8TR(n) (D) DaATE
(vi)) 99 UelFeE (Web application) T wum & & TE
(Server) TR R SIET
(A) Remote (B) Voice
(C) Local (D) Data
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(iv) In the spreadsheet software, a is an arrangement of
cells in a vertical (standing) manner.

() is one of the most important attitudes of an
entrepreneur, which is defined as the ability to contmue to do
something, even when it is difficult.

(4A) Decisiveness
(B) Interpersonal skills
(C) _ Perseverance
(D) Taking initiative

(vi)  CNG stands for

2. Answer any § out of the given 7 questions. 5x1=5
1) DBMS stands for

(i1)  All Java statements must end with a/an

(iii) is a language that is used to manage data stored in an
RDBMS.

(iv) In relational models, a is called a relation.

(v)  IRCTC online portal for booking train tickets stands for :

(A) International Railway Catering and Tourism Corporation

(B) Indian Railway Controlling and Transport Corporation

©) Indian Railway Catering and Tourism Corporation

(D) International = Railway = Controlling and  Transport
Corporation

(vi)  Which of the following is not a valid data type of SQL ?
(A)  CHAR(n) (B) VARCHAR (n)
©) STR (n) (D) DaTE

(viil) A web application is a program that is stored on a

server.
(A) Remote (B) Voice
(C) Local (D) Data
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3. fumg 7y e 6 % AT | 6x1=6
(1) EEIRARGIETND %—Eﬁma@fﬂﬁ&’ (e-learning websites) % T Farsy |
(i)  HFET e STTHT AT (language) HHE Wl HEE e
AT |

(iii) HfeRT T ORDER BY clause ¥ TTeF ASC I DESC 1SS o1 T & ok |
Ww@a&ﬁ(Query)wWﬁmwﬁWWW

(i) s TR T 9 et (National web portal of India)
3 S e sl S TET T SaT S S T g S et
T T T (Single window access) 3UTToY =l 2l

(v) UEel e WRol (existing table) W T hieH STEAT & T | Ao
(table)ﬁﬁmwaﬁ@%%qagﬁw%ﬁ@aﬁﬁm SQL FHiE
(Command) T IUAT FHCHHaT S ?

(A) INSERT
(B) UPDATE
(C) MODIFY

(D) ALTER
(vi)  3emeT @9-a7 (Online Transaction) F g Y
iferes gEi@ SAE@r e |
(A) auiHTe (Alphabets), RIS GeRaTerd (Special symbols) S g
a1 fHe e §9

(B) 319 STHRATA Hisget Fei 31 ST
(©) 1o Frelt Rrrst 3 o S
(D) T I ST ST ST

(vii) “Java T af@se (variables) 3T TN S § gE TFA (declare) AR

SFAREETES (initialize) T i ST T& T 17 g UEl ¥ A7 T ?
ERIEY
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Answer any 6 out of the given 7 questions. 6x1=6

(1) Name any two popular e-learning websites.

(i1) A computer can understand only its own lénguage called

(iii) Kritika did not use ASC or DESC keyword with ORDER BY clause. By

default in which order will the result of the query be displayed ?

(iv) is the national web portal of India, which provides a

single window access to information and services being provided by

the various Indian government entities.

(v)  Rahul forgot to add a column in the existing table. Which one of the
following SQL commands can he use to add the desired column in
the table ?
(A) INSERT
(B) UPDATE
(C) MODIFY

(D) ALTER

(vi) makes the password safer for online transactions.

(A) Combination of alphabets, special symbols and numbers
(B) Use of personal mobile number
(C) Use of name of near and dear ones

(D) Use of date of birth of mother

(vii) “Variables in Java need not be declared and initialized before they

are used.” State True or False.
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4, TRumwe g aE a5 % s difvm) 5x1=5

(i)  ShelT (Frontend) 30T J%UE (Backend) WiSee < = GIISiehdl
(Connectivity), EC thdﬁleh%id Jsiee (web  application project) &

 ur STt

(i) ¥ TRl 2UeT (tuple) H TR UiESTE (attribute) 1 SR (value) FIAT B AT
QAR T B AT 39 7 & Al W ISR A o [ ITH Tsh
%Iﬁﬂé?\’{\(value) EIREIUREEIRSIIRS
(A) EMPTY
(B) BLANK
(C) NULL
(D) wvoIibp

(iii) TR 3UE (National Satellite) STETA Fropet Yeas r
19871 & hleh Rd § 3 (e-governance) | o= SR T |

(A) NICNET
(B) DEITY
(C) NEGP
(D) NEGD

(iv) ST ST @Es (Java programming language) o @& (Variable)
T ?

(v)  SQL Query 3 uformy o geATehe acﬂt_\vl (duplicate values) ' TF TR
wefsta s o T Toige Wl (SELECT Statement) W shieid 3 19 3 €19
Fag (keyword) T T R SITT§ |

(vi) ST (Java) § ®RUT (Array) @ fEF@ (declare) 3R SISt
(initialize) % % T A1 %97 (valid statement) T :

(A) int[] marks;
(B) int[] marks
(C) int[] marks
(D) int[] marks

{60, 70, 90}:;
(60, 70, 90);
[60, 70, 90]:;
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Answer any 5 out of the given 6 questions.

i)

(ii)

(iii)

(iv)
(v)

(vi)

EIXE

B

- Connectivity between Frontend and Backend project will be done in

phase of a web application project.

If the value of an attribute in a tuple is not known or not applicable or

not available, a special value called is used to represent
them.
(A EMPTY
(B) BLANK
(C) wuLL
(D) wvoip

In India the main thrust for e-governance was provided by the

launching of , the national satellite-based computer
network in 1987.

(A) NICNET

(B) DEITY

(C) NEGP

(D) NEGD

What is a variable in Java programming language ?

keyword is used in SELECT statement along with

column name to display duplicate values once in the result of an
SQL query.

Select the valid statement to declare and initialize an array in Java :
(A) int[] marks;

(B) int[] marks = {60, 70, 90};

(C)  int[] marks = (60, 70, 90);

(D) int[] marks = [60, 70, 90];
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5. funueuywidy Al 5 s swANT) 5x1=5
1) EeE (Domains) ¥ ERICTAERY WA ehe (database application) ED

eier ¥ Freffad § & SF-T1 e Tera © 7

(A) TSTHRH SIed A 19 (Education Database Application) i
T BT ST ST % TSl Bl GUEid s oh foTe fora SITaT g |

(B) diftyest &9 Utilehe™ (Hospital Database Application) &7

N g QT % aTfee W@ o T e ST R

(C) dfT STeE Uwehy™ (Banking Database Application) =1 T

ZaTEAT T TeTeh fareruT TeH o T ferarr ST 2 |

(D) TEHHE Sd U ehs™ (Government Database Application) T
ST wETar Gt R (electoral roll) T % foTg ICRIESIRIES

(i) 3% YR % DBMS ITrERaisl 9 ¥ it STARTRATA
1 SavEERaTe % Freor i 6% 918 T SRR B U HH % T
fafesm (Specification) JIT T & T TAERT R |
(A) ST (DBA)

(B) Uiy TUTHH (Application Programmers)

(C) foren wAToRe (System Analyst)
(D) 3T (Tester)

(iii)  STrerm T § I8 sk (try block) T forell oft Wetie (statement) E1T o

(throw) s T YFIUYH (Exception) %l | block H HeTleTd
(handle) fFaT ST 2 |

(A) final (B) throw

(C) catch (D) except

(iv) 7 Employee WUl (Employee table) % salary Had T blank i
¥ o & | fieg salary WHH- #90C (Constraint) AN TE 8 ?

(A) NOT NULL (B) DEFAULT
(C) CHECK (D) NOT BLANK
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Answer any 5 out of the given 6 questions. 5x1=5

1)

(ii)

(iii)

(iv)

Which of the following statements is incorrect related to database

application used in the domains ?

(A) Education Database Application is used to store data of

students and staff.

(B) Hospital Database Application is used to record data of
patients.

(®); Banking Database Application is used to record details of
stock of medicines.

(D)  Government Database Application is used to store details of
electoral roll.

Out of many types of DBMS users, is responsible to

determine the requirements of the end users and then develop

specifications to meet the requirements.
(A) DBA

(B)  Application Programmers

(C)  System Analyst

(D)  Tester

.Exception thrown by any statement in try block in a Java program
is handled in block.

(A) final (B) throw

© catch (D) except

Rashmi is not able to leave a blank in the Salary column of the

Employee table. Which constraint is applied on the field salary ?
(A) NOT NULL (B) DEFAULT

©) CHECK (D) NOT BLANK
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(v) < S ¥ Sgdfed Hed (multiline comments) e a1 wEt et I
g7
(A) S ATAR forward slashes (//) o T FHE ATE & DT
(B) /* 3 */ Ta! (Symbols) o sfier HHE foreT |

(C) 4 Goha % w1 i @1sT (Comment line) & AT |

(D) /#FTH/ Tehal o ST e ToT@HT |
(vi) 39 Java interpreter %1 7T SATSY S byte code T IR w3 @i
(machine code) T ST § 31T 9 38 ST (execute) il T
6. TeuwwewEld ¥ il 5% I ANT 5x1=5

1 Java T %ae class o 3iaia gEAM (visible) class =1 27 TR (data
member) T %7€ T (method member) S 3 T fore ToRie HITSHRR
(Access modifier) T T fRaT ST § 2

(A) public (B) protected
(C) default (D) private

(i)  Flipkart 3T eBay ST €€ (shopping stores) *
I T |

Gi) Tt @ 39 FSEd (Web browsers) % AT Sagg ST et Wl
erTEed (Websites) 31 STSRAT (browsing) H TR T8 L § |

(v) i R e e e % e T 1Y TR RHE
(grouped statements) &1 T ST ¢ |
(A) Array (B) Object
(C) Class (D) Method

(v) ST (Java) , 3T STE SR (Values) § & T 9 (value) o T
T (Matching Code) % TR ¥ FITET (execution) & 1T
TeHe (statement) T EDIRE IS IR

(vi) & Java package ¥ scanner class ST & ?

(A) Jjava.util (B) java.applet
(C) java.net (D) java.lang
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(vi) |
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Which is the correct way to write multiline comments in a Java

program ?

(A) Beginning a comment line with two consecutive forward

slashes (//).

(B) Writing a comment between the symbols /* and */.

(C) Beginning a comment line with # symbol.

(D) Writing the comment between the symbols /# and #/.

Name the Java interpreter that translates the byte code into

machine code and then executes it.

Answer any 5 out of the given 6 questions.

1)

(i1)

(iii)

(iv)

(v)

(vi)

5x1=5

Which access modifier in Java is used to make a data member or a

method member of a class visible only within the class ?

(A) public (B) protected
(C) default (D) private
Flipkart and eBay are examples of shopping stores.

Write the names of any two web browsers which help us to browse

various websites over the Internet.

A/An in Java is a block of statements grouped
together to perform a specific task.

(A) Array (B)  Object

(C) Class (D) Method

In Java, statement is used to execute a block of code

matching one value out of many possible values.

In which Java package is the scanner class available ?
(A) java.util (B) Jjava.applet
(C) java.net (D) java.lang
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Eha
ECLERE]
| (Rrearuwes w9 ) (30 3i=)
e T TR T 5 e A @ e 8 3% s i | T S T ST 20 - 307§
e 3x2=6
7. B TSR (Green Job) T ? 2
8. fEsiiedt TR (digital presentation) T % 9 Bt & et IsieeH
. T9eaw (presentation softwares) %WW l 2
9. Trefefiad TIsal s G H SATEA i ; \ 9

(a) oafwcd (Personality)

(b) =fipea faward (Personality traits)
10. Pl =R Taite o1 gl Sl (barriers) FT Ieo@ HIST STt AT

feft T2 (enterpreneur) 1 37U JTH T A oh SITH BT T8 Hehcl T 2
11. Gf3ra 999 (Active listening) 1 Tl @ I foRedl S FERT (factors) ED)

wifery =T it | : 2
fu e 5 TEA S & TRl 3 9 ST 20 — 30 TIsal (STedeh) | ST | 3x2=6 |
12. f=faRea Java statements %1 output STAIRT: 1+1

(a) System.out.println ("30+20");
(b) System.out.println ("Information Technology" + 802);
13. 3o dawwe [T (Database Management System) Al et o ferRisaatt =t
CRIEHG
14. SQL T LIKE operator & |y T % 3T _ (underscore) gl T T TS
g7 2
15. Java IDE 997 ? 2TRrekat S0 6T S act fohefl Tk Java IDE T AM SAq ] 1+1

16. SR Sver T T oY ST It S2T6d Ut ens ™ (database application) & foreel
31 TR! T ITE T | 2
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Section B
(Subjective Type Questions) (30 Marks)
Answer any 3 out of the given 5 questions on Employability Skills. Answer each
question in 20 — 30 words. Ix2=6
7. What is a Green Job ? , 2

8. To create a digital presentation, suggest the names of any two popular
presentation softwares. 2

9. Briefly explain the following terms : 2
(a)  Personality
(b)  Personality traits

10. Mention any four most common environmental barriers which an

entrepreneur may face while running his/her venture. 2
11. Briefly explain any two factors that affect active listening. 2
Answer any 3 out of the given § questions in 20 — 30 words each. Ix2=6
12. What will be the output of the following Java statements : 1+1

(a) System.out.println ("30 + 20");

(b) System.out.println ("Information Technology" + 802);

13. Write any two characteristics of Database Management System. ' 2

14. What is the purpose of ¢ and _ (underscore) characters used with LIKE
operator in SQL ? 2

15. What is Java IDE ? Name any one commonly used Java IDE. I1+1

16. List any two ways in which database application is used in the Banking
Sector. 2
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Eias
o ma 3 g 7 8 eaT 2 % IR 30 — 50 WIEI (IH) A AT 3x2=6
17. for loop T WA Fd §Y number 5 F %I (factorial) hl TUAT
(calculate) S IE9 (display) %WWWW | 3
18. SQL T el o e e (aggregate functions)é?@ﬂﬁwaﬁﬁﬂl! 3

19, 0 g J8¥ B St (New Trends Fashion Company) 3T A g S aEl AT
ST T | 98 0T ST 3 [T ST Uwtese (Database Application)
ST STEAT & | SES S9ETEE (website) % T database # W el 6 (39)

TR entities ¥ T AT | 3
v 7w 5 7o @ g 8 3 I 50 — 80 ISR () | Ao | Ixd=12
20. FrefaRaa R Sfaed (String Variables) T RRITCHIRT - 1+1+1+1

String strl = "Hello";

String str2 = "Java Programming";

stre ¥ foreferian % fIu i ©ewed (Code statements) oty :

(a) T&Tstrl T upper case T weldfa & & [T

A(b) ﬁgﬁ str2 UIsH 6 % character T TEiia w3 & g |

() TETstrl F 378TC 117 & first occurrence ! index value yafild 1 &
o) |

(@) V17 FHEE G & T e RET strd Y NER i % el

21, Ul wocs U (Entry controlled loop) FR e weglce T (Exit controlled
loop) o ST AT ST | 4

99, 37EeeT REOr (Online learning) o el =T Tt 1 TU€ HIFT | 4

93, (a) T ST 9 (threads) ST 0T 3 fafie i w1 seere Hi |

(b)y <= TOTHT (Java Programming) ¥ gay d TgEH (Assertion) EARvIERE T |
STET | TERET (Assertion) @R 3 Rt Toh alieh I SRy | 2+2
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Answer any 2 out of the given 8 questions in 30 — 50 words each. Ix2=6
17. Write a Java program to calculate and display the factorial of a number 5
using for loop. , 3
18. Explain the use of any three aggregate functions in SQL. 3

19. Varun is the owner of New Trends Fashion Company that deals in
garments. He wants to make a Database Application for his company.
Suggest any six possible entities that can be used in the database for his
website.

o

Answer any 3 out of the given 5 questions in 50 — 80 words each. - Ix4=12

20. Consider the following string variables : I+1+1+1
String strl = "Hello";

String str2 = "Java Programming";

Write the code statements for the following in Java :

(a)  To display the string str1 into upper case.

(b)  To display the character at the index 6 in string stzr2.

(¢) To display the index of the first occurrence of letter ‘1’ in
the string strl.

(d)  To display the string strl after replacing letter *1” with '*'.
21 Differentiate between Entry controlled loop and Exit controlled loop. 4

22, Explain any four advantages of online learning. 4

23. (a) What are the different ways to create threads in Java programming ?

(b) With reference to Java programming language, define assertion.

State any one way to write an assertion. 242
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24. RUTT GARMENT "Rl (table) Wt feerm i | 1+1+1+1
GCODE GNAME SIZE COLOUR PRICE
111 TShirt XL Red 1400
112 Jeans L Blue 1600
113\ Skirt M Black 1100
114 Ladies Jacket XL Blue 4000
115 Trousers L Brown 1500
116 Ladies Top L Pink 1200
Srerferfaa % e SQL e Tl :
() ST a@l % yeiia (display) 4 3 fAg s 1w TSI H IUeTsY § |
(b) 115 IS aTE I o1 {1 SEETeRt “Orange” T o T |
() Treafed data 3 @l Tk T row S8 o AT |
GCODE = 117
GNAME = Kurta
SIZE = M
COLOUR = White
PRICE = 1000
(d) ol (Table) “GARMENTS’ ¥ ‘COLOUR’ FAT ! €2 & [ |
326 Page 18 of 19 #
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24. Consider the given table GARMENT : 1+1+1+1

GCODE GNAME - SIZE COLOUR PRICE
111 TShirt XL Red - 1400
112 Jeans L Blue 1600
113 - Skirt M Black - 1100
114 Ladies Jacket XL Blue 4000
| 115 Trousers L Brown 1500
116 Ladies Top L Pink 1200

Write SQL commands for the following :
(a)  To display names of those garments that are available in ‘L’ size.
To change the colour of garments with code as 115 to “Orange”.

To add a new row with the following data :
GCODE = 117
GNAME = Kurta
SIZE = M
COLOUR =

White

PRICE = 1000

To remove the column ‘COLOUR’ from the table ‘GARMENTS’ .
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